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Time allowed for the test: 50 minutes
PR 50 A 48

Instructions:

1. This test contains two sections:
Section A: Questions 1-30
Section B: Questions 31-36
Answer ALL questions.
Write your answers on the answer sheet.

Write your name, class and class number on the answer sheet.

ok~ N

You may do your rough work in the blank space of this test
booklet and there is no need to rub it out after the test.

6. You can use a pencil or a black/blue ball pen to answer the
questions.

7. The use of calculator is not allowed.
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Note:
Not all diagrams are drawn to scale.

SECTION A (60 marks)

Choose the correct answer. You only need to
write down the letter preceding the selected
answer.

N
/1—:33 *

IMAHB A BB E

1. The actual number of users of the
website E is 286 149. When
corrected to the nearest ten
thousand, both the number of users
of website E and website F are the
same. Which of the following
numbers may be the actual number

of users of website F?

A. 279 862 Corrected 286 149 to the near

ten thousand is 290 000.
B. 284 843  Corrected to the nearest

ten thousand

I 293 017 A. 280 000
B. 280 000
D.2978625  eoon

1. =t E g %% © X ficd_
286149 o« ¥ B~iT BT F 0 4
#Efeiest F et 2 A - 4k o
TR — i #F a ARk FROE

RS

st A.279 862 286149 Bif i
¥ =290 000 -
B. 284 843 s SRERUES
A 280 000
I 793017 B 280000
C. 290 000
D 300 000
D. 297 862

2. The charity needed to distribute 18
boxes of apples. If each box had 12
packs of apples and each pack had
9 apples, how many apples did the
charity distribute in total?

A. 162 There are:
18x12x9

B.216 = 1944(apples)

2. R I8 fAdE R o Aok F A
ARG 2K T RERF 9B
il R &

A 162 FiE s
18x12%9

B.olg ()




2 (1]
When it is divided by 18, the

remainder is 16. Which of the
¥ |?

is a 3-digit number.

following is

A.212+18=11...14
B.214+18=11...16
C.216+18 =12
D.218+18=12...2

o O B>

2
4
6
8

21 ||| - Bz dice § v
“ﬁ% 18 s AEcE_16 0 T A vRiB §_
Y| ?

S O >

<3 I e N B I > B ) S

4. A box of 16 ballpoint pens sells for
$240. The average price of each
ballpoint pen is more expensive
than that of each pencil by $5. To
buy four dozen pencils, how much
should be paid?

A. $720
240+-16—5=$10
There are

10x12x4
=$480

The average price of each pencil|i

4. - § R+ 4F 164 B &
$240 - &gl + 0T 308§ RE
AL S5 B 4T R S
9

A. $720 F g ehTiog i L
240+16—5=$10

B
B.S640 71}
B 450
D. $360




5. The fourth common multiple of two
numbers is 168. Which of the

following groups of numbers may be

these two numbers?

5.3 Blcehy e B o

B #A_168 -

T R— e e g Aie e B ?

A. 21 84 The L.C.M. of the two numbers is: A.21 > 84 & B b | = i dc i
168+4 = 42 168+4 = 42
A. The L.C.M. of 21 and 84 is 84. A.21 fr 84 chdo] o B Hicd_84 o
B. 3’ 56 B. The L.C.M. of 3 and 56 is 168. B.3>56 B.3 fr 56 s ] o 3 i A_168 -
C.The L.C.M. of 6 and 7 is 42. C.64c7 cnd ] &> B #HcH_42 -
I6, 7 D. The L.C.M. of 4 and16 is 16. I6 » 7 D.44c 16 chg -] = B #cA_16 -
D. 4,16 D.4 16
6. If each represents 1, 6. 4ok = B &k 1T
what is the result of adding up all the 7] % Bl E IR A R A eniE 4p

numbers represented by the shaded

parts of the following figures?

by ts

m“l—‘g‘ﬂ‘\7 /‘?

A. 1%
i

A. 1%
%




7. 1f

40
5 =0, then4d0— % =2

ol

A4 40 Xx 40-% 0
5 5 5 =0-0="75
B.3 X 0
5 -5

*
741:4%5—5—0,%@”
40—% = ?
A.4 40 * 40-% 0
S os -5 00=7%
B.3 40=% o0
5 5

8. Which of the following has the largest

value?
l 4.2x1.6 Compare options A
and C, eliminate C.
B.3.7x1.8 Compare options B

and D, eliminate D.
A.4.2x1.6=06.72
C.0.42%x1.6 B.3.7x1.8=6.66

D. 0.37x1.8

8. T AYR— IE E E 7

l4.2><1.6 WGETE A C o
pltg Co

B.3.7x1.8 ‘'#EFEBID-
?‘J%Do

A.42x1.6=672
C.0.42%1.6 5'37, 15— 6.66

D. 0.37x1.8

9. There are 96 buttons in each pack,
7
12 of the buttons are red. How
many red buttons are there in total if

there are 14 packs?

7
A. 40 96XEX14

=784
B. 56 There are 784 red buttons in total.

C.
Bl 7s4

L T 4,
L E e adey 96k AP 12{:::

$ o ek RG 14 ¢ dade o £

Fd ede b g9

A. 40 96><%x14

B.56 &4 o784




10. Each kettle can hold 4%L of herbal

tea. How many kettles can be fully
filled if there are 114L of herbal tea?

A. 784 There are:

B. 75 114+4%
=24

B

D. 12

3 .
Z*’l‘/ﬁk ° 4o

10. = @k v 4
RooF O EGOR

5 IRG 114 2 5
5069

A.784 T B

3
B.75 7%

I24 =24 (1#)

D. 12

11. The correct answer of a mathematics
question was 2109.457, but Carmen
wrongly exchanged the hundredth
digit and the tenth digit. Which of
the following numbers was Carmen’s
answer?

In the number 2109.457,
the hundredth digit is ‘5’

and the tenth digit is ‘4.

A. 2019.457

I 2109.547 So Carmen’s answer was
2109. 547.

C. 2109.754

D. 2159.407

1. 2 E 0t/ d 54
2109.457 » e & R Z frifd F oA
et ol F THET o U
- BERIT TR

A. 2019.457 2109457 ik d?
B oA deF & ;SJ ,
Lt A T4

I 2109.547 ., ey m:é {:
2109. 547

C. 2109.754

D. 2159.407
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3
12. There are 3lzkg of peanuts in the 12. % &5 311 SR L
2 2 D e
nut shop. The peanuts are 55kg Sskge BREPM FF L o
heavier than the walnuts. What is the 57
total weight of peanuts and walnuts?
9 al wei anu ) N
Asike T AGgke o
3.3 2 315431555
9 3II+3II_5? B Sgikg 41 4 5
SSﬁkg B 58_(1%) 7710 = 5875 (ke)
1
I 5§ I >80 ke
1 D. 57—k
D. 57Wkg 10 X8
Each Each
~ l P \,i\ 3
= i s I B
13. There are 2 croissants and 1 13. 8 2 2 p\ F2B2 Aol B
pineapple bun in a discount TR > LR AS04kF AR
package, the price is $30. If the same TR Lo > FRA
number of croissants and pineapple EEV LGSR 0T
bun are bought, how much can be
saved by buying the discount
package?
3 Itcan be saved: I 3 GERE I
I 835 lorstos 5375 b0+ 83 30
T —s33 — =
— = $3
B. $3 10 5 $3 5
3
C.54= C. $4—
3 =l
$4? D. $4 5




14. Arrange the following three numbers | 14. 4= 127 = F#cd /| 3 < 7] ¢

from the smallest to the largest:

32 7 32 7
o 4375 2 435
9°" 712 9 431
2 7 o) 7
2= L x5 20 2z 1
A 9 <4<312 9 =39 =334 A 9 <4<312
7 .21
32 7 372 =336 32 7
I9<312 DRI I3<3?<4
7 32 ’ . 7 32
C.3E<3<4 C_3E<?<4
7 _32 732
D.4<375 <% D.4<37; <7
15. The company has 105 employees, 15. 225 105 ¢ A1 » 2¢ 30 %X &
3 , 3
30 of them were British and— 5 of B AT AT AR A o
the remaining were Germans. What HEAE2IMB IS e 2 B9

was the fraction of Germans to all

employees?
3 The fraction was: 3 R ERIE
I 14 30, 3 I — 30 3
174 (17070 174 (37105)“0
= 7 _3
B. 79 B. 79
11 11
) 9
D. 10 D. e




16. Which of the following descriptions
about isosceles right-angled triangles

is incorrect?

A. A square can be formed by
fitting two i1sosceles right-angled

triangles of the same size.

B. A trapezium can be formed by
fitting three isosceles right-angled

triangles of the same size.

C. A triangle can be formed by
fitting four isosceles right-angled

triangles of the same size.

l A parallelogram can be formed by
fitting five isosceles right-angled

triangles of the same size.

16. ~ 7R~ Ié"ﬁ

MEEE &= 47

ik it g e ?
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S

17. In the above figure, when Ben arrives
at the junction, he will turn left and
walk on. In which direction will he
walk then?

A. south
B. north

C. southwest

. northeast

NS
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18. Anne drew a straight line on a
rectangle paper and two trapeziums
were obtained. Which descriptions in

the following must be correct?

I. There are two right angles in

each of the trapeziums.

II. The perimeter of two

trapeziums were equal.

III. There was an obtuse angle in

each of the trapeziumes.

A.Tand II only
I I and III only
C. II and III only
D. LII and 11

L -'/ H 1L / III.
ul O /

L ABHAsEFaBEE -
IL & @Haja% hps -

ML & BH254F - S84

BN

A
Bl-:i-m
C

D

T
I

IT 2 III

b

I[-1I 2 III

19. By using all plastic sticks and plastic
beads of the following two 3-D
shapes, how many triangular prisms

can be formed at most?

19. * 7T A B2 BT Rk

fosk > B ST EE 50 B
41 9

A M

A. 5 Atriangular prism has 9 edges and 6 vertices.
There are 23 plastic sticks and 15 plastic beads

B.4 23:10-2.3
15+6=2...3
(. 3 2 triangular prisms can be formed at most.

iéﬂhy 9|£7f,jf[ 78 8L o
24 % 23 H e 15 sk -
=10 =2(F)---3(1)
15+6=2(f[3‘)"'3(?ffi_)
BEF N2 B 4o

C.3
B

11



20. The above figure is formed by six 20. F@Bld 2 B AP nFlfo- B

circles of the same size and one Z &8 cE~FAe G A o
triangle. E, F and G are centres. If the dod & BREE [ F 8cm = &
diameter of each ciecle is 8cm, what A R R 509

is the perimeter of the triangle?

A. 16¢cm  The perimeter of the triangle is A.16cm = £25e0% B %0 12 5 L2 ek B o
equal to the length of 12 radii. Z &A% KA
The perimeter of the triangle is: 8+2x12
B.24cm U500 B. 24cm _ 48(em)
=48(cm)
48cm 48cm
D. 96cm D. 96cm

Figure 1 1 Sem] Figure2 [ M
- g T0cm — =

SCmI
8 T0cm
16cm o
H.

21. Figure 2 is formed by fitting the three |21. B]= &_d Es‘]# ST hz B E A
rectangle shown in Figure 1. What is Hprm Ao vt AE S0 Q
its perimeter?

s perimeter is: 108cm v % Vi
. 108em & B85 4541602 l (28+45+5+16)x2
B. 114cm ~108(cm) B. 114cm ~ '08€m
C. 136cm C. 136cm
D. 148cm D. 148cm

BATAH EE (L 5) 12
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4
4
4
4
4
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7
7
7
’
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[P »|
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60cm
22. A carpet is formed by a rhombus and |22, - % &d - B F 5o B % :F
an equilateral triangle, as shown Z A s dot BlPTm o T
above. what is its perimeter? ¥R ES 9
A. 120cm The side of the rhombus is equal to A. 120cm FABEfrEz £ pE o
the side of the equilateral triangle. FAefEfes iz 40 £ A
The side of the rhombus and the 602 = 30(cm)
B. 140cm side of the equilateral triangle is: B. 140cm . G g
v e g :
602 =30(cm) 603053
Its perimeter is: I _
I 150cm 604303 150cm = 150(cm)
=150(cm)
D. 180cm D. 180cm

iy
miF

23. The above solid is formed by cubes |23. 2} ez 48d % B#E 3cm et
with side 3cm. What is the volume TR o RS
o ?

of the whole solid?

A.8cm> The volume of the whole solid[is: A. 8cm? BB R R A
3x3x3x8 3x3x3%x8

B. 64cm? 26 B. 64cm® = 216(cm’)

C. 162cm? C. 162cm?

BATIELH B 5 () S) 13



A X
l4cm W Y
Z
A\ 4
D 18cm .
24. In the above figure, W, X and Y are 24, =Bl W> XfeY E i 3350
squares. Find the area of Z. RZ g ff oo
l 24cm2 The sides of X and Y are: l 2401112 XfeY eif £ & 18— 14 =4(cm)
18714:4(C1'ﬂ) 7 ﬁ{
The area of Z is: 14—4—4)x4
B.32cm? (144 4y B. 32cm? :2(4(sz) )
=24(cm?)
C. 124cm? C. 124cm?
D. 252cm? D. 252cm?
36cm?
16cm?

25. The above figure is formed by two | 25. F Bl&.d - B3 B > A5fc- B
squares and a triangle. What is the ZhA e o = &g ffAS
area of the triangle? B9

A. 8cm? 16=4x436=06%6 A.8cm?  16=4x436=06%6

The base of the triangle is 4cm.

I 12¢cm? The height of the triangle is 6¢m.
The area of the triangle is:

4x6+2
C. 16C1’Il2 = ]2(C1ﬂ2)

D. 32cm?

= 435K % _4em o

I 12cm? & A 6cm -
Z & e A
C.16cm? #7672
=12(cm?)
D. 32cm?

14



26. In the above figure, what is the area
of the shaded part?

A. 15cm?2 The area of the shaded part is:
(2x3)x(2x3) +(2x3)x(2x2)
+=2x2

B. 3001112 :60(cm2)

LA i gr B -
VIR G A

(2x3)x(2%3) +(2x3)x(2%2)

+=2x2
B.30mn2:6mmﬁ)

C. 45cm? C. 45cm?
l 60cm? l 60cm?
4cm 4cm
je—> [
20cm
Sem 20cm
30cm

27. What 1s the volume of the above

solid?

A. 4200C1’1’13 The volume is:
30x20x20—(30—4—4)

B.4500cm® *2020-5)
= 5400(cm?)

I 5400cm’
D. 6000cm?

27. ) Bz AR RS 9

A. 4200cm’
B. 4500cm’®
I 5400cm?
D. 6000cm’

WL
30%20%20— (30 —4—4)
x20%(20—5)

= 5400(cm?)




Number of Goldfish in the Tank

G40 B & 4 s

4
= | &E &
e
';%i‘% i ‘\; “\;
V‘th;te ?\( ?\(
P;r;;le é( |

28. According to the above graph, what
was the fraction of the number of
black goldfish and white goldfish
to the total goldfishes?

L The fraction is:
A. 15 2+t3 1
2 442+5+3+1 3
B. F
1
C. 3
I 1
3

;g\

Each
= B

3

28. 13954
S S R
%0

w|>—‘ m|_‘;‘[\);‘_

BB = >

g{ stands for 1 goldfish
;\\ RS

2d £hfro ¢ & b

HEEE &gl A

LESLE S § &g
__ 243
442+5+3+1

1
3

16



Number of Books in Four Book Corners

v pEE A OE D HE

600 \ [7] Chinese books
500 N Rk
2 N |
8 400 \ English books
ki \ “ e g
THE 300 < N § : 5
5 e
SE 200 § N \
: N N N
z 100 § § § §
0 § My oy &
E F G H
Book Corners
B3 &
29. According to the above graph, 29. 12gpt B> T AR gy i D AR
which description in the following 17
1S correct?
I. The total number of English books L 2 BRIZ &> BF PR
in the four book corners is 1500. %ﬂlg 0+300 100600~ 150004
4
II. The difference of the number of I B3 & F oG Rl il 4p

books between Book Corner F
and Book Corner G 1s 100.

II1. The number of Chinese books in

1
Book Corner H 1s 3 of the

total number of books in Book

I. The total number is:
20043004400+ 60

I1. The difference is:

Corner H.

£ 100 &~ o
1. 48 £ : (300+300)— (200 +400) = 0( *)

. B2 & Hene 2 g]%ﬁif&f_ i
F¥ & HFZ R an -
EEE E HEE i o

300 1
300+ 600

I11.

E)

=1500

A.Tand ITonly ™ )" 300)— (2004 400) = 0 Aorg 12
Bliandmonty ' oo Bloi1i2m
a
Y 300+600 3 f
C. IT and III only C. x3 IIz 1II
D. LII and IIT only D. I~1I 2 III
B AT H B 5 () S) 17



of 2P?
A. 56

P P
30. If - = 8, what is the value 30. %zr%7 =8 7Rp- 2P i
59

7 =8 A. 56

p

E B. 58

P=56

2P=2x56 =112 I 112

D. 146

R

=

End of Section A

I 2=

18



SECTION B (40 marks)
Working steps must be shown in answering
questions in this section unless specified

otherwise.

z 2 (40 »)
“,f%‘%‘*ﬂliﬁ Bek s A B AIRA R RERE

THECEST 2

31. The following table shows the

visitors to the jewelry show in the

past two days.

(a) What was the total number of

(b) If the total number of visitors in the

31. T %

i o

Ak T REL A R N B4

Visitors to the jewelry show in the past two days

KFEEFEL I X 2 F oLk

The first day The second day
- X N
Morning
. w 128

_]: =
Aft

cHnoon 201 154

Tt T

visitors to the jewelry show in the
first day? (Give the answer only
and express the answer in terms of
[2 marks]

W) (w+201)

first day was equal to 2 times of
the total number of visitors in the
second day, what was the number
of visitors on the first day
morning? (Use equation to solve
the problem and show your

working steps) [4 marks]

w201 = (128 +154)x2

@) KT E % - % chig » H A el

U ABNERER
w 9T ) [2 ~]
(w+201)

(b) 4% § - % chi » B4 el

$ 2 X chohig ~ B A B2

B &%- X FEarH A
500 ANt

EoLBAKE)  [44)
w4201 = (128 + 154)x2

w =363
$- & E o B A R 363 4 o

B ATRE

E:Al

w=363
The number of visitors on the first day morning was 363.

|15 &5 (] 5) 19



Sales of Fans in an Electronics Store in the Past Six Months

R R e ) T
800
700 T
2 600 220
S ~
553; 500 200
ey
Eﬁ‘ 400
3 300 750
200 350
100 100
February = March April May June July
- B o 2 7B = 0 R
Month
IS

32. (a) Comparing the sales of fans by
month, what is the difference
between the greatest and the
smallest sales of fans? (Give

the answer only) [2 marks]

550
The difference is: 650— 100 =550

(b) When the difference between the
sales of fans in two months was
greater than 200, it indicated that
there was a significant change in
temperature. According to the
above graph, in which two
consecutive months was there a
significant change in the sales of
fans? Explain by using the data.

The sales of fans in April is 250, the sales of fans in
May is 500, 500 —250 = 250, 2 marks]

250>200(Accept any other reasonable explanation)

32. (a) F R Bes R B S ot

PR N L A ]
EAAS 2N ARNE
) [2 ~]
550

bosendl 40 £ 1 650—100=550( 5)

(b) 3 Bipid ? ek L4
FREA3200 5 0 PlETF
B P RE NS o A5

IR S Ak
iR T I I
o, [2 4~ ]

4R g EE 250 5 07 % b oS
8 %500 5 > 500—250 =250 >
250>200(H = £ @ f2fs 7 HER)
r o7

April > May

20



u / 3
/
/
/7
/ —
/
) 20cm
/
/
7
7
4
/7 v
20cm
Figure 1
B —

33. Sammi is making a greeting card.
After she cuts along the dotted line in
Figure 1 to remove a triangle, a
trapezium is obtained as shown in

Figure 2.

(a) What is the area of the trapezium?
The area of the trapezium is
(20—8+20)x20+2 [4 marks]
=320(cm?)

(b) Sammi used the trapezium of
Figure 2 to make two greeting
cards as shown below. She believes
that the areas of the shaded parts in
the two greeting cards are the

same. Do you agree? Explain.
The shaded parts are triangles with base of 20cm
and height of 20cm. The areas both are: [4 marks]
20>20-+2 = 200(cm?)
(Accept any other reasonable explanation)

Figure 2
B =
Ll b flit- R o wir Lk
MY - Bz &350 > FHEZ AT
T A
(a) B-25ehe A5~ 2 [44]

AETE B &

(20—8-+20)x20+2

=320(cm?)
(b) ™ Bl LA Bl BRAT
= ‘:zJ-mrgi 55 Ff'__l’. 5 'Q‘b’—o Y
¥t g

pn

A

r‘l‘

=1

™

(

:ﬁ' :\:t

Tl R6B 2 R

{‘M\ i X & %20cm ~ 3 5 20cmenz & )

rsg\ 20202 = 20
’*; T?:ﬁ*"]“%* '—1;}’&—,\)

2
&

B F*'

2

-

0(cm?)

ETh 7f;1"

7 9k
e
[4 ~ ]

’

agree
Greeting card 1 Greeting card 2
i + - il + =
BATREAH E 5 (] 5) 21



34. The following table shows the single |34. T # &1 gLk ¥ L e ki, ¥ 17

journey fee of sightseeing bus and 7o
boat.
Sightseeing bus Sightseeing boat
Bk 4 Bk 4
Adult $41i $200
A & 5
Child (aged 12 or below 9
(ag ) $20 5 §120
TE(2 AT

(a) What is the fraction of the single
journey fee for a child to take the
sightseeing boat to that of an

adult? (Give the answer only)

% [2 marks]

The fraction is: 120+200 = 5
(b) Ms Wong went to take a

sightseeing bus with 4 adults and
a child together. How much did

She paid she pay in total? [4 marks]
4
415%5+20 10

- $2297)(c) Mr and Mrs Chan went to take
a sightseeing boat with 3
daughters aged below 12. How
much did they pay in total?
(Give the answer only)

760 [2 marks]
They paid:

(@) - 3 Lpkdy el A2 2
A hBa 2 B2AR

NEE) 2 2 4]

3
A A a1 120200 = 3

b) 2 lEeF k4 edidel &
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760
fo X Tl
200x2+120%3 =$760

200x2+120x2 —=$760
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35. The daily rent for a booth at the flea
market is $90.

(a) Eric has $285. How many days
could he rent a booth at most?

5 (Give the answer only) [2 marks]

285+90 =3---15
He could rent a booth for 3 days at most.

(b) The serial numbers of Eric’s
booth was a 2-digit number. The
number was a multiple of 16 and
divisible by 10. What was the
serial number of that booth?
(Give the answer only)

%0 [2 marks]

The multiples of 16 are 16, 32, 48, 64, 80, 96, 110...|..

An integer whose units digit is 0 is divisible by 10.

35. BeR PO H— BHELiE X R £
$90 -

(@) =z 7%
:Eﬁl'. >~ %

28590 = 3(% )---$15
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(b) %

80
16 ¢ ﬂl;ﬁi:y 16 > 3248 > 64> 80> 96 »
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Toy Area
m=EE X
Snack Area
X
Clothing A
othing Area
T N
(¢) According to the above floor (c) Rypm Lt ped @ HFoT g @
plan of the flea market, the PRE R BT S Reend 2 > o
Clothing Area was in the dod 2 BRI E S HEAT|RE
southwest of the Snack Area. If % oo B RGeVRE S w4 ?
Eric wanted to go to the Toy (FREBIE %) [2 4]
Area from the snack area, in S

which direction should he go?
(Give the answer only)

Q th ast
southeas 2 marks]

110
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36. (a) Mother bought a red bean cake
and put it into the cuboid paper
box shown in Figure 1. Complete
the net of this paper box on the
answer sheet. [2 marks]

(b) Mother divided the red bean cake

into eight portions evenly along
the dotted line, as shown in
Figure 2. What was the volume of

each portion of red bean?

rk
The volume of each portion of red Lean cz%< S
10x8x3+8
=30(cm’)
(¢) The weight of the whole red bean

cake was 750g, The weight of red
bean and sugar weigh 275¢g and
25g respectively. What was the
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Figure 2
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(Accept any other correct answer)
(His Frd &4 78&%)

36.(a) 4545 % £ fihiz e
Ao Foduu o~ Bl- hE R

BEP o BEFHL RS

Mg AR [2 4]
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10x8%3+8
=30(cm?)

fraction of the total weight of red (% 7R ”é‘% I E ﬁs) [2 z,,\]
bean and sugar to that of the %

, whole red bean cake? (Give the B RH e B 2775;025 _ %

5 answer only) [2 marks]

he fraction was: 25025 2 End of Test Paper
B 750 5 P
Pk E =
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